ZIERXDETE xIs DR 1-1

NDER1
NO.1 ZE /10 =

4 RONEZRRALAEZN,
M (2 a +1)( a + 3)

2 (2 x —3)(3 x — 2)

3 (4 a +5b)(2 a + 3 b))

4) (2 x =3 vy )(5 x — y)

S5 (7 a —4)( a + 3)

o) (2 x + 3)(6 x —5)

7) (3 a +2 b )(2 a — 5 b))
8 (6 x —2 vy )(3 x + vy)

@ (a +2)( a — b = 1)
(10) ( 2 x — y)(—=-3 x — 4 vy)
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(3) 8 a2 4+ 12 ab +

= 8 a2 + 22 ab

(4) 10 x 2 — 2 xy -
- 10 x 2 — 17 xy
(5) 7 a2 4+ 21 a -

= 18 «x 2 — 2 Yy 2
(9) a2 4+ 2 a -
= a2 — ab +
(100 — 6 x 2 — 8 xy
= — 6 x 2 - 5
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10 ab + 15 b 2

+

15 b 2

15xy+3y2

+ y 2
4 - 12
12
18 — 15
15
4 — 10 b 2
10 b 2
6 - 2 y 2
ab 2 b — a
a 2 b — 2
+ Xy + 4 Yy 2
Xy 4 y 2
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